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Which of the following statement/statements are correct regarding the Portuguese relation with
Kerala?

i) Vasco da Gama reached at Kozhikode in May, 1498

ii) In 1500, the second Portuguese mission under Pedro Alvares Cabral reached Kerala

iii) Vasco da Gama made his second arrival in Kerala in 1502

iv) Portuguese alliance with the Kolathiris was stable and continuous till their exit from Kerala.
Select the correct answer from the codes given below:

(A) Only (i & ii) (B) Only (i & iii)

(C) Only (iii & iv) (D) All statements are correct

Which European power was defeated by Marthanda Varma in the Battle of Colachel?
(A) The British (B) The French

(C) The Dutch (D) The Portuguese

Match the following books and their authors and find out the correct answer from the choices
given:

a) Hortus Malabaricus i) Katchanancheri Namboothiri
b) Mamankam Kilippattu ii) Shaik Zainuddin

¢) Perumal Tirumozhi iii) Hendrik van Rheed

d) Tuhfat Ul Mujjahiddin iv) Kulasekhara Alwar

(A) a—iii,b—1i,c—iv,d—ii B) a—ii, b—iii,c —iv,d —1i
(C)a-iv,b—ii, c—i, d —iii (D) a —iii, b —iv, c —1i,d —ii

Which of the following statement/statements are correct regarding the first ministry of Kerala
under EMS Namboothiripad?

i) Joseph Mundassery was the Minister for Education

ii) P K Chathan was the Minister for Industries

iii) K R Gouri was the Minister for Land Revenue

iv) K P Gopalan was the Minister for Local Self Government
Select the correct answer from the codes given below:

(A) Only (i, ii & iv) (B) Only (ii & iv)
(C) Only (i & iii) (D) Only (i, iii & iv)

Mansabdari system was introduced by
(A) Sher Shah (B) Akbar (C) Shah Jahan (D) Aurangzeb

By which Act did the British Crown take over the Government of India from the East India
Company?

(A) The Regulating Act (B) The Government of India Act
(C) The Pitt's India Act (D) None of these

Arrange the following events in chronological order:

i) Rowlatt Act ii) Gandhi-Irwin Pact

iii) Partition of Bengal iv) Nehru Report

Select the correct answer from the codes given below:

(A) i, ii, iii, iv (B) ii, i, iii, iv

(O) iv, ii, iii, i (D) iii, i, iv, ii
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8. Who introduced the Twenty-Point Programme?
(A) Indira Gandhi (B) Rajiv Gandhi (C) Narasimha Rao (D) V P Singh
9. Match the following events and movements and find out the correct answer from the choices
given:
a) Stamp Act i) Great Revolution of England
b) Tennis Court Oath ii) American Revolution
¢) Bill of Rights iii) Russian Revolution
d) Treaty of Brest-Litovsk iv) French Revolution
(A)a—ii,b—iv,c—iii,d—1i B)a—ii,b—iii,c—iv,d —1i
(C)a-iv,b—1i, c—ii, d—iii (D) a—ii,b—iv, c—1i, d —iii
10.  Which of the following leaders were the signatories of Atlantic Charter?
i) Franklin D. Roosevelt ii) Joseph Stalin
iii) Winston Churchill iv) Chiang Kai-Shek
Select the correct answer from the codes given below:
(A) Only (i & ii) (B) Only (i & iii) (C) Only (i, ii & iii) (D) Only (ii, iii & iv)

11.  Which of the following processes is primarily responsible for the formation of a delta?
(A) Glacial erosion (B) Wind deposition (C) River deposition (D) Volcanic activity

12.  What does the contour interval on a topographic map represent?
(A) The distance between two points on the map
(B) The vertical difference in the elevation between consecutive contour lines
(C) The total elevation of the highest peak on the map
(D) The horizontal distance between two contour lines

13. In which regions of India are Tropical Thorn Forests predominately found?
(A) Western Ghats and Eastern Ghats
(B) Coastal regions of Odisha and West Bengal

(C) Semi-arid areas of Rajasthan, Gujarat and Haryana
(D) Himalayan foothills

14. The Silent Valley National Park in Kerala is renowned for conserving which type of forest

ecosystem?
(A) Mangrove Forest (B) Tropical Rainforest
(C) Deciduous Forest (D) Montane Grasslands

15.  Which two mountain ranges do the Palakkad Gap separate in the Western Ghats?
(A) Nilgiri Hill Ranges and Nelliyampathy Hill Ranges
(B) Cardamom Hills and Palani Hills
(C) Ponmudi Hills and Nilgiri Hill Ranges
(D) Vindhya Ranges and Satpura Ranges
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An increase in per capita income without an improvement in income distribution indicates
(A) Increase in overall welfare (B) No impact on welfare

(C) Widening income inequality (D) Reduction in poverty

The RBI's decision to reduce the Cash Reserve Ratio (CRR) primarily aims at
(A) Curtailing inflation (B) Reducing fiscal deficit
(C) Increasing liquidity (D) Strengthening rupee value

A simultaneous rise in GDP and fiscal deficit suggests

(A) Government is reducing expenditure

(B) Government is following expansionary fiscal policy

(C) Private sector contraction

(D) Monetary tightening

Which among the following is the best measure to evaluate the welfare impact of economic
growth?

(A) Nominal GDP (B) Real GDP

(C) HDI (D) PCI

Assertion (A) : NITI Aayog emphasizes bottom-up planning.

Reason (R) : It has constitutional authority to allocate financial resources to states.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Who administers the oath of office to the President?

(A) Prime Minister (B) Vice-President of India

(C) Chief Justice of India (D) Governor

Who is the first Chairperson of Lokpal?

(A) Justice AM Khanwilkar (B) Justice Pinaki Chandra Ghose
(C) Justice Sanjay Yadav (D) Justice Cyriac Joseph

In which year, the Right to Information Act was passed in India?
(A) 2004 (B) 2011 (C) 2005 (D) 2006

The power of the Supreme Court of India to decide disputes between the Union and the States falls

under which jurisdictory limit?

(A) Advisory Jurisdiction (B) Appellate Jurisdiction

(C) Original Jurisdiction (D) Constitutional Jurisdiction
If a Panchayat is dissolved, the elections are to be held within a period of

(A) 6 months (B) 1 year

(C) 3 months (D) 5 years
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Which of the following is not included in the Fundamental Duties of the Constitution of India?
i) To uphold and protect the sovereignty, unity and integrity of India

ii) To safeguard public property to abjure violence

iii) To develop the scientific temper, humanism and spirit of inquiry and reform

iv) To assure the dignity of the individual and unity and integrity of the nation

Select the correct answer from the codes given below:

(A) i, ii & iii (B) ii only

©)ii & iv (D) iv only

The procedure for Amendment is provided in which part of the Constitution of India?
(A) Part XX (B) Part XXI

(C) Part XII (D) Part XV

Which Constitutional Amendment introduced the anti-defection provision in the Constitution of
India?

(A) 51** Amendment (B) 52" Amendment

(C) 53" Amendment (D) 54" Amendment

In which of the following landmark judgements, the Supreme Court held that the
Parliament could not amend the Fundamental Rights?

(A) Golaknath and others Vs. State of Punjab — 1967
(B) Maneka Gandhi Vs. State of India — 1978

(C) Shankari Prasad Vs. Union of India — 1951

(D) Kesavananda Bharathi Vs. State of Kerala — 1973

73" Amendment Act emanates from which article of the Indian Constitution?

(A) Article 36 (B) Article 40

(C) Article 44 (D) Article 49

Which work is known as the first Malayalam travelogue written in prose?

(A) Varthamanapusthakam (B) Dharmarajavinte Rameshwarayaathra
(C) Kaashiyaathravarnanam (D) Ullkallbhramanam

Which translation work was published by A R Rajaraja Varma in 1895 without using any
Dwitiyaksharaprasam?

(A) Daivyayogam (B) Malayavilasam
(C) Keshaveeyam (D) Meghadootham

The largest Mural Painting ever seen in Kerala is reputed to be in Krishnapuram Palace. What is
the subject of that Mural Painting?

(A) Ramayanam (B) Keechakavadham

(C) Gajendramoksham (D) Geethopadesham

Who is the Malayalam poet who initiated the establishment of Kerala Kalamandalam?
(A) K C Keshava Pillai (B) Venmani Mahan

(C) Machatt Elayath (D) Vallathol
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(B) samd» »omul Vs. enamyo quouadmo - 1978

(C) vomnal (aImod Vs. @emlQm 60a0 e0my - 1951

(D) @d0000ma3 @@ Vs. 808 MvoauadmMo - 1973

73-00 8ERM®EI Moo NADYMD BOEMALISMWIOS oR® @DASlEsIgEd mlomoen) ©oy@Evldlasm® ?

(A) EASlesDd 36 (B) @odsglesld 40

(C) @odslesd 44 (D) @odslesd 49

0BT 02 le66als MRIWISMTIORI EYEIOETH WI(®IANIEMOo ag)(T) GECIWERISIAM E:Y®] aR®?
(A) UBGD@OMa 30 (B) wdomooggoaled moemuojo@I (@

(®) oe;ouo'lcxvomomésépgmo (D) o@ee@(@m6emo

gl sflosHnElomo aflegatto OealdHlalied:06ns 1895@ af).@OA. ©0M0BAIBM (wImlalle:dley
aI@1@0aUIE: Y@ a6 ?

(A) 6BIBWIMNOo (B) mpiwalleiomo

(C) edwoailwo (D) emeaizy®o

BHOBOBIM B6NMS3BHISIVI O] a@@lio QUL 2adal(@o dhyadiemalio EB:0500MBTIRIONT. §0D
aodol@momlesl allat@o ag)amoem?

(A) @O@OW6Mo (B) ®3lalsmaio

(C) 1nEx(BEMIHcH0 (D) BSlemoaleawro

BBHOE BHRIOMEMLAIGHIENG N IMEBIMN MYDOOBHOYSIOT DRIISHA @OO6M?
(A) 9.0l 800U llgg (B) &@auemmem] manm
(C) 2J05 D8W® (D) cussemmowd
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35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

Match the following based on authors and works:

a) Odakkuzhal 1) S K Pottekkatt
b) Randamoozham 2) Takazi
¢) Oru Deshathinte Katha 3) G Sankara Kurup
d) Kayar 4) M T Vasudevan Nair

5) O V Vijayan
(A)a-3,b—-4,c-5,d-1 B)a-3,b-4,c—-1,d-2
(C)a-4,b-1,c-5,d-2 MD)a-4,b-3,c-5,d-2

The first newspaper in Malayalam was born in the month of June, 1847. Identify the name of the
newspaper.

(A) Rajyasamacharam (B) Paschimodayam
(C) Paschima Tharaka (D) Njananikshepam

Which Chavittu Nadakam is known as the first Chavittu Nadakam performed in Kerala?
(A) Alleshu naatakam (B) Plamena charithram

(C) Carlmans charithram (D) Genoa naatakam

In which sport is the term "bogey" used?
(A) Golf (B) Badminton (C) Tennis (D) Cricket

Who was the coach of the Indian Men's Hockey team during the Tokyo 2020 Olympics?
(A) Roelant Oltmans  (B) Graham Reid (O) Ric Charlesworth (D) Harendra Singh

Which city will host the 2028 Summer Olympics?
(A) Paris (B) Brisbane (C) Los Angeles (D) Rome

Which memory unit is the fastest and closest to the CPU in the memory hierarchy?
(A) Cache Memory (B) Flash Memory
(C) Main Memory (RAM) (D) Secondary Memory

Which of the following is an open-source operating system?

(A) i0S (B) Linux (C) MS DOS (D) Windows

Which transmission medium is the most suitable for long-distance and high-bandwidth network
communication?

(A) Coaxial cable (B) Microwave

(C) Optical fiber (D) Twisted pair cable

Which of the following is the primary function of World Wide Web?
(A) Accessing multimedia content and documents using hyperlinks
(B) Managing IP addresses

(C) Secure file transfers

(D) Online gaming
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35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

QG)PAOIBHO0IOSWI0 ErYBHBIOSWI0 @OSIOIM@TI@ 621000 lS] BolDHE) Ik,

a) B0SHE) 9T 1) ag)V. 6. HAIORHEIS

b) eensomyso 2) &Yl

C) B0} GBOMBTIOM LA 3) &l. EEHOI0R]

d) Hd 4) ag)o.Sl. QUOMIGBALIM MOW®D
5) &. all. aflzo

(A)a—4,b-3,c—5,d—1 B)a-3,b—4,c—1,d—2

Ca-4,b-1,c-5,d-2 (D)a-4,b-38,c-5,d-2

1847 g6 MONV@TILINEN DRIQIBEBIOL @GO al@o all0ANeowsyEm®). al(@ETIONR Gald
@)@l 2Ol s

(A) ©oggyVMO.21000 (B) auvallemoso
(C) auvalo@®o0Hs (D) emomailestalo

BHOBOBIB GO lE06a|3 @DEIOEM 210ll5) MISE0 agMAIWeR|SIMMN 21Afl5) MISH:0 aR®IEM?
(A) @OBRJUDIMISE0 (B) gJeam 21dl(@o
(C) 00BN 21@l(@®0o (D) 888mo0 Mosdo

"geruoudl” ag)aMm alBo @@ 0@l HMMIEN) HAIBWOUIBEYM@)?

(A) 8RN (B) enuoawailcgerd (C) esaomilay (D) leeg
85006760 2020 BlMllEla@d enamyM alidiad GanHs) Slallo al@lutleln: @oEoRloim,?
(A) 8008M 60B3MOMD (B) ag)enianoo Sl

(C) Ol 2100V QIB®DY (D) an6m(3 milo6d

2028 mmd sglml&la) af® Moo ERMICLQ®Io A asleo?

(A) a1o@lony (B) enflonyseniad

(C) seI0My aglerau@my (D) 80020

Milafly aflemos e@raiio @osiEmy qudlml ©21QIM®IPe @RI BAUN®ERlIR@INOQ OO
20ISE0 QR@O6M)?

(A) ®0ad QO] (B) qgoatf &@omal

(C) (aawom ool (RAM) (D) &aveeensal emomdl

®26¥ 6ISIOTHUI@ aR®OEN B0y BOaeMd-6aYYE 630a|eOglous Milgyo?

(A) ag)Bag)m (B) ellmaesmy (C) MS gawomy (D) afladdsawomy

pdM entomdavallay (Bandwidth) eoalwymow, dldeaigo cuodemoallria@emlmie 6maaldosilouy
@O YEIBRDHE 0 oRBRNIL0 BRMIGWOLIMOW (SOMMYlattd dlalo agymosen?

(A) G0@RIQ@ GH6eNnl1d (B) eenew-060u0T

(C) 80aiglen @ e)eranenid (D) siguaw ald Gmendld

BB 66O eUOM (WWW) (@IWOM ©BGU00 ag)amI6N?

(A) 620 |d6SHTY GOSIMAOMAOLETIWIBS BAIE:PODMRPIEWD OB:EHI0J0 6.21Q M

(B) &ag)al (e‘romp%” 6)6)8>dH00Jo 6).21Q@d

(C) MmO D@ HEIBHMNORO

(D) soemeerIm ool
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46.

47.

48.

49.

50.

Which section of the IT Act, 2000 deals with the punishment for publishing or transmitting obscene
material in electronic form?

(A) Section 65 (B) Section 66 (C) Section 67 (D) Section 70

Montreal protocol is

i) An agreement for the conservation of the ozone layer by phasing out the production of ozone
depleting substances

ii) An agreement for the conservation of the ozone layer by reducing the consumption of ozone
depleting substances

iii) Signed in 1987

Select the correct answer from the codes given below:

(A) Only (i) (B) Only (ii & iii)

(C) Only (i & ii) (D) All of the above (i, ii & iii)

Methane has a lower global warming potential than the following greenhouse gases:
i) Chlorofluorocarbons, Nitrous oxide

ii) Nitrous oxide

iii) Carbon dioxide

Select the correct answer from the codes given below:

(A) Only (iii) (B) Only (i & ii) (C) Only (ii) (D) Only (i)

Insitu biodiversity conservation methods are
i) Zoo

ii) Zoo and gene banks

iii) National parks and biosphere reserves
iv) National parks and sanctuaries

Select the correct answer from the codes given below:

(A) Only (i & ii) (B) Only (i)

(C) Only (iii & iv) (D) Only (iii)

The 'Great Pacific Garbage Patch' is mainly composed of

i) Heavy metals and wood ii) Plastics and Microplastics
iii) Floating plants iv) E-waste

Select the correct answer from the codes given below:

(A) Only (ii) (B) Only (i & ii) (C) Only (i & iv) (D) Only (iii)
Eutrophication is caused by excessive input of

i) Phosphorous ii) Nitrogen

iii) Calcium and Uranium iv) Sulphur

Select the correct answer from the codes given below:

(A) Only (iv) (B) Only (i & ii)

(C) Only (iii & iv) (D) Only (ii & iii)
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45.

46.

a47.

48.

49.

50.

@ogdlel O8RSHN0  EDRIBERIMIE; O lOTI@  (IMIESlGElEN®HEWO  MoG(laHeMo  6)21Q)IEQ0
£21QIMN@IY (Bl M@M® H)ag)S] @OERIOR! ag®) Adsia] (AI0mI6eM?

(A) QU] 65 (B) aumya] 66 (C) cummya] 67 (D) Uy 70
©Q0MUIO@ B(aI0BZ08EHIUWD ag)(MTy alOWIM®Y

) 63060V06M EDRJOMOLHYM OB HHTMIER MldamOeMo MB@BIOHHIENE B306MVIEM aloslow
Mo&HIHOHIM@IM GOlMElIRE ag) oD

i) 630606 EDRIOMILEIM E)EABOHBMVIONM IGO0 Ehy0.2J1OHI6NS BOGIVIEND aloglew
MoHHlEIM@IM GOlMEIRIES ag)Tlond]

i) 1987-@ aflgy

@MIBIEHYINM BHIWIEEI Moo LI HDOEETINSIHE) Jbs.

(A) i m0(®o (B) ii & iii mo(@®o

(C)i & ii mo@™o (D) m&l@d aloemmemeloo (i, i & iii)
®IOY alOWIM aOBIBNJeOUOIBEEIBOHHIB0 BLRO6NIM QOBAToU ©1aldgMay@d Ery0I06em dleLad
QUO@EEBIY

i) BgOBNQIENI H:0DENIEMMY, HEMSM SOOI

i) ®eMESMY SOl

iii) 006n16M 66X B0gOIA

@IBIHN LM BLOWIBEI@ MM Yo LAl IBMOO OMOEIETTMSLHEIB:.

(A) il mo(@o B)i & ii mo@o (C) ii mo®o (D) i @o(@®o
06201660 NwEEIOR snad-milgy Motdsem@Blen dlale:.w eeny

i) DYUDOLIBUD

i) 2y0UoRIG®, elad enioses

i) NOaUEM@d aloBHe M0 enlleoMilwd ClavdQiE-8l0

iV) MNOaUEM@ al0RHEJB:80 MO L0

@MMIBEHYIMM BHIWIEEI (IO o LI HDOEETINSIHE)Jbs.

(A) i & ii mo(@®o (B) i m0@o (C) ii & iv mo(®o (D) iii @o(®o
'8 altanlss odeeNIeE aldall'@ & ysymelnel esaslelgias sy

i) ©a0all ©ag@v0 ®SlHaL0 i) gJogylanio OONEE@0gJOTVlHe 10

i) ©a106TE1RESHNIM 621510 iv) 60 eoUm)

@MIBIEH LM LW IBEI@ MM Yo LBl IBMOO OBOEETTMSLHEIRs.

(A) i m0(®o B)i & ii mo@o (C)i & ivmo®o (D) iii mo®o
@E(S0adlEHHaHM MoGANLHHIME) AR® DILIEBUID d:SIEMIORIEN)?

i) BandMianOMY i) &emSRM

iii) 0@ Jo, WIBOMIWo iv) cv@dand

@MMIBIEHYIMM BHIWIBEI (TN o LI IO HDOEETINSIHE) Jbs.

(A) iv mo(®o (B)i & ii mo(@o

(C) i & iv mo(@o (D) ii & iii @0(@o
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53.
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56.

57.

58.

59.

60.

61.

If x — 4, x — 2 and x are prime, then x + 2 is

(A) A prime

(B) A composite which is the square of an integer

(C) A composite which is not the square of an integer
(D) A composite which is a multiple of 5

If increasing 10 by x percentage gives the same value as decreasing 30 by x percentage, then what
is x?
A)10 (B) 30 ©)15 (D) 50

The diameter of a wheel of a car is 77 ecm. How much distance will the car move during 1000
revolutions of the wheel in meters?

(A) 2420 (B) 770 (C) 77 (D) 1210

A sum was put at simple interest at a rate for 5 years. If it was put at 2% higher rate, the amount
that could have earned additionally is 5000/-. Then the sum is

(A) 5000 (B) 25000 (C) 50000 (D) 20000

The ratio of three numbers is 3:4:5. If the sum of the numbers is 60, then find the sum of squares
of the numbers

(A) 1250 (B) 4000
(©) 2250 (D) 5000

5 men complete a work in 3 days and 3 boys can complete it in 5 days. Find the time taken to
complete the work by 4 men and 2 boys.

(A) 1 day (B) 2 days (C) 3 days (D) 4 days

The area of a circle with perimeter equal to 39.6 m is equal to the area of a rectangle. What is the
breadth of the rectangle if its length is 27.72?

(A) 3.6 (B) 6.3
©)45 D)2.4

Find the number which when decreased by 12% becomes 1760?
(A) 2000 (B) 1000

(0) 1200 (D) 5600

Thomas bought a furniture item for Rs. 4800. If he had to spend Rs. 1200 for polishing the item
before selling, then find the profit or loss percent if the selling price is Rs. 5400.

(A) 1% profit (B) 1% loss

(C) 5% profit (D) 5% loss

(625)0.16 X (625)0.09 o

(A)S (B) 125 (C) 625 (D) 25
Find the odd one out from the given data

(A) Radium (B) Oxygen

(C) Chlorine (D) Hydrogen
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

X =4, X — 2, X a)(MIQ @0EILLYTVo6 (D @DEHEMEIM X + 2 ag)ON®?

(A) B0} @OEILZYTVO6) JQO6N)

(B) 80y @&yMo6 j@io @oe® MA®o B0 al3®ENMVo!iWIeSs AIBPA@O6TY

(C) 80y @OERYMO6I W0 @OEHIVAWO B0 al3BERMELJWIHS AUBPRARIOED®IDO6T

(D) 80y oL YMo6 W0 BOEDIVA®O 5-60) 630 NIMIGAIYMOET).

10 &M X vd®@OMo AUdALlalafo@ 30 &M X BAOMo EI02JO@ BISM @oe® allel &:lgenessld
X ag)@®?
(A) 10 (B) 30 C) 15 (D) 50

8B0) 50O 21(@EOTOR Q1Mo 77 ev.al. @en. 1000 (@IOQIUD 0 BHOBLEMIOWD &Od ag)(® algd
300 Mlensll@leeo?

(A) 2420 (B) 770 C) 77 (D) 1210

B0) MY 630} Mlual® EMOMo MVOWIEM alellto@) 5 AUBAHEEDY OE0SIOTNY. 2% HSIO@ alelvog)
6)B0SYOI0IOMESI@ 5000 DJat drySIMM BHISIMOQAMIMY. ag)sslEd MIELHaI®m D ag)(@®?

(A) 5000 (B) 25000 (C) 50000 (D) 20000

DN (Vo6 JELBIO'S BOM Jal0®o 3:4:5 @EM. @OAIQIOS @Y 60 @REEMEIT Vo6 JHBIOS UBNEBRIOS
@YD af)(®?
(A) 1250 (B) 4000 (C) 2250 (D) 5000

5 oy@ldmmaId &0y eLoel i dlaimo ©@0eE 6o1Q @ldEHL. 3 Sl @em  6oell
5 Glalavo 6106nE 6.01Q) @ldB60. 4 MBIDMAIIE 2 BySldaio 0D 622l H.al1Ql GBI ag)®
GlauMo ag)Syeeo?

(A) 1 Glauo (B) 2 Glcumo (C) 3 Glauo (D) 4 Glauvo

2paeal 39.6 m @@ alyeoesioR Alqldene 6oy 2imeEesled almiadenasial myelymoen).
21e0EmleN Allgo 27.72 M @6eMsI@ fld ag)@?

(A) 3.6 (B) 6.3 (C) 4.5 (D) 2.4

B0 MVo6UY 12% d6NE d3020@ 1760 &15OMBIM Mo6 YERI®)?

(A) 2000 (B) 1000 (C) 1200 (D) 5600

80) andenlaj® @O 4800 @gal@ QIOEE]L. @O® Galdglad £21QOM 1200 et O21LIAI0QI. agf)ssl@d
@@ 5400 Jal@ ANFOM @OWORLAS RIOEEMO MaUBGMO ag)@® V®MOMo ag)(M) drensa ISlHe jds

(A) 1% el0Go (B) 1% mayo (C) 5% eI0Go (D) 5% mMayo

(625)0.16 x (625)0.09 =
(A) 5 (B) 125 (C) 825 (D) 25

BQIOM BOCETHSIBEOLE:?

(A) solo (B) s305vlg3ad (C) egzo0la (D) ®ean(weam
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69.

70.

If the sum of two numbers is 150 and the product is 45, then what is the sum of their reciprocals?

1 3
(A) 1_50 (B) 10
1 10
© 75 D) 3

What is the angle between the hour hand and minute hand of the clock at 12.20?
(A) 120° B) 110° (C) 250° (D) 240°

If 26 January, 2025 is Sunday, then what will be the day of 26 January, 2028?
(A) Friday (B) Tuesday
(C) Wednesday (D) Thursday

If "EARTH" is written as "FCUXM?" in a certain code, then how is "SPOON" written in that
code?

(A) RONNM (B) TQPPS (C) TRRSS (D) TRSRS
What is the value of
40+10-4+32+4+10+2-1)?
16 13
A4 B) 3 (&R ® 3
1

The n™ term of the series 5, 1/5, 1.... is 625- Then n is
Aan (B) 10 ©) 12 D) 13

Raju moved 10 km to the east and then turned right moving 20 km. After that he turned left and
moved 10 km. Finally he turned left again and moved 35 km. Then what is the shortest distance
from the starting point to the end point?

(A) 20 km (B) 25 km (C) 30 km (D) 35 km
Sumesh is 13 ranks ahead of Ramesh in a queue. Ramesh is 19" from the last. Rajesh is 5 ranks

behind Sumesh. Arya is 8 ranks ahead of Rajesh and 3 ranks ahead of Sumesh. If Arya is 39" from
the front, then how many people are there in the queue?

(A) 74 B) 75 ©) 72 (D) 73
Raju is the son of Ram's father's sister. Vikram is the son of Radha, who is the mother of Arun and

grandmother of Ram. Kesu is the father of Priya. Kesu is also the grandfather of Raju. Radha is
the wife of Kesu. How is Raju related to Radha?

(A) Nephew (B) Son (C) Grandson (D) Son-in-law
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63.

64.

65.

66.

67.

68.

69.

70.

Q6NE VOB JHBLES BVOIE> Mk 150 o WIEMManLio 45 Ho @YEEMIM BOUWIOS U PD(EHAOTIOMR
@Y ag)(@QI6N)?

3
A 1 ®) 75 o1 L
150 75 3
12.20-07 606160 mamlengd agallenio almlg avgallenio swilaas eeoemant ag)®?
(A) 120° (B) 110° (C) 250° (D) 240°
26.1.2025 6mMOWOIY 2 @I6EMEBIM 26.1.2028 of® Glalmmo@f@leso?

(A) eIegloYa] (B) ©210Q)0¥]

(C) en1ymoYay (D) augowoga]

"EARTH" agyom QI0#8) 80} 6800 @ad@il@d "FCUXM" agamoeemesl@d @ne® @oauel@ "SPOON™
g MM BHOW ag)MmORdleso. ?

(A) RONNM (B) TQPPS

(C) TRRSS (D) TRSRS

40 +10—4+32 + (4 + 10 + 2 — 1) agyM@eR myeljo ag)rmoen?

16 13
A4 (B) T © 8 (D) T
5,V5, 1, ... a0 8U3emlwes N-0o alBo 605 @M, N = _
(A) 11 (B) 10 (C) 12 (D) 13

MORY HIPHE)) QUNEODHE 10 leeodlgd memidlayy. @sdMy @oalles Moy aleI®y QAIGETNEE)
@l@lern) 20 sleenalnd memidlaly. alloam, seamog @ldlems 10 &lerodlgd qemidlaly. esylad
aflensgo snseEmog @ldlernn) 35 leealgd qerIdlaly. oI @G MAIMEMIMINT @OCIVIM
UOOMBOHNIER ARRNUI0 B0 B0 ag)(@®?

(A) 20 wsleenalnd (B) 25 #leeionlgd (C) 30 wileeioallnd (D) 35 wleeloalgd
80} 330 N@d AEMaHIEMHHORD 13 0085 mNMILIeN MVEMad. allaml@d mlmmy 19-00 OOMEOEN dEMAY.

MERHIBNHHORD 5 008D allomilelnen 0GR, ©06RHBMHENIWD 8 08Hlo MVYIEMAHIBMNMHHIWD
3 008pgo MIMMIlRIoEN @Y. M@ Ao 39-00 AUADMEDIEN) BDOIOWEKIM B:ILONT VOB ag)(®

BalMyens?
(A) 74 (B) 75
C)y72 (D) 73

0%}y ©0aleO) @O MEA00CEIWIANS MMM, Qlldho EOWWIOS MBMOEM. EOW @OOIEMIOMR
@00 EOAIOM MIEHYFWIM0EN. €00y (IQWIOS @OLIMOEM. @Hoy 0RO IO 2IMIo
B3SIOEM. MW BHUIANOM BOOIWIEM. ORY EIWRIBOW ag)ETBEM NIMLOQSIBlHOYM,?

(A) @oMamOAIND (B) o

(C) ©210 0 (D) oo
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73.

74.

75.

76.

77.

78.

79.

Seventy kilograms more than anyone can lift easily.
(A) are (B) is

(C) will (D) shall
She is elder her youngest sister by 4 years.

(A) than (B) of

O to (D) by

I am good at grammar, ?

(A)am 1 (B) amn't I
(C) aren't 1 (D) are I

Change into indirect speech:

He said, "I will return this book tomorrow".

(A) He promised that he would return that book the next day
(B) He said he will return the book tomorrow

(C) He offered to return the book tomorrow

(D) He promised he would return the book next day

Identify the correct spelling

(A) Phoenix (B) Pheenix

(C) Phinix (D) Phoenex

If you had studied well, you the examination.

(A) will have passed (B) would pass

(C) would be passing (D) would have passed
Kids are fond games.

(A) about (B) of

(C)in (D) by

The idiom 'a red-letter day' means.

(A) a day of bloodshed (B) a very important day
(C) a day of martyrs (D) an unhappy occasion
I came across a of girls in the park.

(A) pack (B) pride

(C) bevy (D) gaggle
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86.

87.

88.

89.

90.

The word 'scapegoat' means.
(A) an escaped goat
(C) a goat kept as prey for a wild animal

Opposite of 'extravagant’

(A) intelligent

(C) lavish

The expression 'sine qua non' means.
(A) an essential condition

(C) do not sin

Choose the correct sentence

(A) He is writing for two hours

(C) He writes since two hours

(B) a goat which is sick

(D) a person blamed for someone else's wrongs

(B) thrifty
(D) foolish

(B) none is qualified
(D) none of the above
(B) He has been writing for two hours .

(D) He has been writing since two hours

Find the passive voice of '"When did you buy the boat?'

(A) When the boat was bought?
(C) When did the boat bought?

Choose the singular of 'data’.

(A) datem (B) datam

'There is little water in the glass' means.
(A) There is some water in the glass

(C) There is no water in the glass

The phrasal verb 'put off ' means.
(A) To put something outside
(C) To extinguish something like fire

It may take time to
(A) adopt (B) adept
Kiran's pen was
(A) bad

(C) worst

The train

(A) is leaving
(C) had left

to new situations.

than that of Arun.

(B) When was the boat bought?
(D) When did bought the boat?
(C) datum (D) datim

(B) There is very little water in the glass

(D) There is enough water in the glass

(B) To put something away
(D) To postpone something

(C) adapt (D) accept

(B) worse

(D) worsest

when he reached the railway station.

(B) has left
(D) will leave

72/2025-M



91.

92.

93.

94.

95.

96.

97.

98.

NOIWOW alBo HDOEEITMSIHE) Jd:.
(A) voyat0®wD (B) tdlatodwo

(C) wlauodwo (D) wlcuodwol

To look blue ag)am (Ie@on@EBION o2 lmaow nrIIg..
(A) EOmOaUIOMOQAI@lH6) 3> (B) r3allomoefi@lee s

(C) allantgpmowfl@lHeniss (D) avoto@oelo@fl@les e

MdQJo @RI &BHOYMmIMAIM.
(A) @RODIa0] (B) @oomeicaind

(C) @oomeIom (D) eoonwogd]

M6 0 g alBEslo Allaidl®alico
(A) vmemo (B) cudezyo

(C) wdan Yo (D) gg@o

BOIOOEIBORLI00 6)21QYPIBH-FBETM ag)MMo (IAUBDBTHHIY ag)(M @DUQO QUMM alPEERI0L?
(A) a1GleOHIM@IMNY MIMT 1DLOYBLOHRIBOYD)

(B) 8635068:06n8 ©UIgl2J6)a SOIGY

(C) oo ®RII@ONI] &0 6.2IEMOLM

(D) d6muo 6.21@Q) allembo 6HQULHOYY

OMROW QLI Y0 ODOEETNSLBEYE:.

(A) o36BU00 MIMYOIBaIB @D MEIVIM al6e:SyEmISINS.

(B) a@#»6aU0 MM IGO0 Galedsslrllo @) MBYIM ales:Sy@BlISyens.
(C) mymMEB0080 Gald @ MGG al6sHSyOTISIeNS.

(D) m30mMi0y Galeasslelio @ MEIRIM ale)sHSyOmISIeNS.

alomi ag)0M alBEBIEM aldPWalBo ag)PIMId:.
(A) 880 (B) sado

(C) alleeivowo (D) allovossso

QUMD ag)(M alBo all@le.olPy@lom
(A) ecuem + o (B) ecug + o

(C) &M + o (D) &cuem + o
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99.  "QUOMEMAUJOBERILB O JB0CEHUD
DMOMHEERIL]BHBOWIRBR MOHHMA" - ag) U@ @oSIAEWS ale®BlON W@OMalBGo.

(A) ssiau (B) atomT
(C) &0s] (D) mfloado

100. Gl + MO ag)asl alBEIBMD EoIBOEMPIBIWOD.
(A) GluImowmad (B) dledmomnmd
(C) dlamomnad (D) Blesmowad
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Question Booklet

Question Booklet

Alpha Code Serial Number

Total Number of Questions : 100 Time : 75 Minutes

Maximum Marks : 100

10.

1.

12.

13.

14.

INSTRUCTIONS TO CANDIDATES

The question paper will be given in the form of a Question Booklet. There will be four versions of question
booklets with question booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet of the question
booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in the Examination
Hall.

If you get a question booklet where the Alpha Code does not match to the allotted Alpha Code in the
seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet.
If your question booklet is unnumbered, please get it replaced by new question booklet with same Alpha
Code.

The question booklet will be sealed at the middle of the right margin. Candidate should not open the
question booklet until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that the question
booklet supplied to him contains all the 100 questions in serial order. The question booklet does not have
unprinted or torn or missing pages and if so, he/she should bring it to the notice of the Invigilator and get
it replaced by a complete booklet with same Alpha Code. This is most important.

Questions Serial No. 1to 70 are printed both in English and in Official Language (Malayalam). Doubts
regarding the meaning and translation of Question Serial No. 1 to 70 will be settled based on the
questions in English.

Two blank pages are provided before the last page of this question paper for rough work.

Please read carefully all the instructions on the reverse of the Answer Sheet before marking your
answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. Choose the
correct answer and darken the bubble corresponding to the question number using Blue or Black Ball
Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be deducted.
No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and without handing
over his/her Answer Sheet to the Invigilator. Candidates should ensure that the Invigilator has verified all
the entries in the Register Number Coding Sheet and that the Invigilator has affixed his/her signature in the
space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind of malpractice
in the Examination will result in the disqualification of the candidate.




